



# APPLICATION OF ANDUALEM AND KHAN TRANSFORM (AKT) TO RIEMANN-LIOUVILLE FRACTIONAL DERIVATIVE, RIEMANN-LIOUVILLE FRACTIONAL INTEGRAL AND MITTAG-LEFFLER FUNCTION

MULUGETA ANDUALEM and ILYAS KHAN

Department of Mathematics  
Bonga University, Bonga, Ethiopia  
E-mail: mulugetaanduaalem4@gmail.com

Department of Mathematics  
College of Science Al-Zulfi  
Majmaah University  
Al-Majmaah 11952, Saudi Arabia

## Abstract

The application of fractional calculus increases from time to time. That is why; researchers are always searching for new techniques (analytic, approximate or numerical) to solve such fractional calculus. Based on such a motivation, in this work, we have developed a new method known as AnduaLEM and Khan Transform (AKT) to solve Riemann-Liouville fractional derivative, Riemann-Liouville fractional integral and Mittag-Leffler function. More exactly, here, first we have introduced a new technique (AK) with counter examples of some basic functions and then we have applied it to fractional derivatives and fractional integration and the solutions are successfully obtained. AK can also be applied to similar nonlinear problems in future.

## Introduction

In recent years, fractional calculus (FC) has gained considerable achievements in various fields of science and engineering. Fractional calculus is the field of mathematical analysis which deals with the investigation and

---

2020 Mathematics Subject Classification: 35Rxx.

Keywords: AnduaLEM and Khan Transform (AKT); Fractional Calculus; Riemann-Liouville fractional integral; Mittag-Leffler function.

Received December 9, 2021 Accepted January 21, 2022

applications of integrals and derivatives of arbitrary order. Fractional Calculus is used in many problems, for example in engineering, physics, economics, biological processes, etc. Many physical problems [1-7] are modelled by using fractional differential equations (FDE) more accurately than classical differential equations [8-11]. Over the years, many mathematicians, using their own notation and approach, have found various definitions that fit the idea of a non-integer order integral or derivative. One version that has been popularized in the world of fractional calculus is the Riemann-Liouville definition.

One of the first to use Fractional Calculus for a problem was the Norwegian mathematician Niels Henrik Abel. In 1823 he applied it in the formulation of his solution for the Tautochrone Problem. The idea of this problem is to find the curve of a frictionless wire which lies in the plane such that the time required for a particle to slide down to the lowest point of the curve independent is of where the particle is placed. In this paper, we discussed important concepts of AK transform, and we present the application of AK transform for Riemann-Liouville integral, Riemann Liouville fractional derivative, and Mittag-Leffler function.

### AK Transform

A new transform called the AK Transform of the function  $y(t)$  belonging to a class  $A$ , where:

$$A = \left\{ y(t) : \exists N, \eta_1, \eta_2 > 0, |y(t)| < ne^{\frac{|t|}{\eta_i}}, \text{ if } t \in (-1)^i \times [0, \infty) \right\}$$

The AK transform of  $y(t)$  denoted by  $M_i[y(t)] = \bar{y}(s, \beta)$  and is given by:

$$\bar{y}(s, \beta) = M_i\{y(t)\} = s \int_0^{\infty} y(t) e^{-\frac{s}{\beta}t} dt \quad (1)$$

**Table 1.** AK Transform of Some Basic functions.

$f(t)$	$M_i(f(t))$
C(constant)	$C\beta$
$t^n$	$\Gamma(n+1) \frac{\beta^{n+1}}{s^n}$
$e^{\lambda t}$	$\frac{s\beta}{s-\lambda\beta}$
$\sin(t)$	$\frac{s\beta^2}{\beta^2+s^2}$
$f^{(n)}(t)$	$\left(\frac{\beta}{s}\right)^{-n} \bar{f}(s, \beta) - \sum_{k=0}^{n-1} \frac{\beta^{k-n}}{s^{k-n-1}} f^{(k)}(0), n \geq 1$

**The sufficient condition for the existence of AK transform.**

If the function  $y(t)$  is piecewise continues in every finite interval  $0 \leq t \leq \alpha$  and of exponential order  $\beta$  for  $t > \beta$ . Then its AK transform  $\bar{y}(s, \beta)$  exists.

**Proof.** For any positive  $\alpha$ , we have

$$s \int_0^{\infty} y(t) e^{-\frac{st}{\beta}} dt = s \int_0^{\alpha} y(t) e^{-\frac{st}{\beta}} dt + s \int_{\alpha}^{\infty} y(t) e^{-\frac{st}{\beta}} dt$$

Since the function  $y(t)$  is piecewise continues in every finite interval  $0 \leq t \leq \alpha$ , then the first integral on the right hand side exists. Besides, the second integral on the right hand side exists, since the function  $y(t)$  is of exponential order  $\beta$  for  $t > \beta$ .

Now to this, we have following

$$\left| s \int_0^{\infty} y(t) e^{-\frac{st}{\beta}} dt \right| \leq s \int_0^{\infty} \left| y(t) e^{-\frac{st}{\beta}} \right| dt$$

$$\begin{aligned}
&\leq s \int_0^{\infty} e^{-\frac{st}{\beta}} dt |y(t)| dt \leq s \int_0^{\infty} e^{-\frac{st}{\beta}} M e^{\alpha t} dt \\
&= Ms \int_0^{\infty} e^{-\frac{(s-\alpha\beta)t}{\beta}} dt \\
&= -\frac{Ms\beta}{s-\alpha\beta} \lim_{\tau \rightarrow \infty} e^{-\frac{(1-\alpha\beta)t}{s}} \Big|_0^{\tau} \\
&= \frac{Ms\beta}{s-\alpha\beta}
\end{aligned}$$

and this improper integral is convergent for all,  $s > \alpha\beta$ . Thus  $M_i\{y(t)\} = \bar{y}(s, \beta)$ .

#### Convolution property of AK transform

Let  $\bar{f}(s, \beta)$  and  $\bar{g}(s, \beta)$  denote the AK transform of  $f(t)$  and  $g(t)$  respectively. Then

$$M_i[f * g] = \frac{1}{s} \bar{f}(s, \beta) \bar{g}(s, \beta).$$

**Proof.** The convolution of two functions  $f(t)$  and  $g(t)$  is given by:

$$\begin{aligned}
f * g &= \int_0^{\infty} f(\tau)g(t - \tau)d\tau \\
M_i[f * g] &= s \int_0^{\infty} \left[ \int_0^{\infty} f(\tau)g(t - \tau)d\tau \right] e^{-\frac{s}{\beta}t} dt \\
&= s \int_0^{\infty} f(\tau) \left[ \int_0^{\infty} g(t - \tau) e^{-\frac{s}{\beta}t} dt \right] d\tau
\end{aligned}$$

Using substitution method  $u = t - \tau \Rightarrow u + \tau = t$ , we get

$$M_i[f * g] = s \int_0^{\infty} f(\tau) \left[ \int_0^{\infty} g(u) e^{-\frac{(us+\tau s)}{\beta}} du \right] d\tau$$

$$M_i[f * g] = s \int_0^{\infty} f(\tau) e^{-\frac{s\tau}{\beta}} d\tau \int_0^{\infty} g(t) e^{-\frac{st}{\beta}} dt = \frac{1}{s} \bar{f}(s, \beta) \bar{g}(s, \beta).$$

### Mittag-Leffler Function

The Mittag-Leffler function is a generalization of the exponential function and it is one of the most important functions that are related to fractional differential equations.

**Definition.** The one and two-parameter Mittag-Leffler functions are defined, respectively, by:

$$E_a(x) = \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(an + 1)}, a > 0$$

$$E_{a,b}(x) = \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(an + 1)}, a > 0, b > 0$$

If  $a = 1 = b$ , then

$$E_{1,1}(x) = \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(n + 1)} = e^x$$

Taking AK transform both sides, we get

$$\Rightarrow M_i(E_{1,1}(x)) = M_i \left[ \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(n + 1)} \right] = \frac{s\beta}{s - \beta}.$$

### AK transform of Mittag-Leffler function

The AK transform of the Mittag-Leffler function is given by the following theorem:

$$M_i^{-1} \left[ \frac{\frac{s^{a-b+1}}{\beta^{a-b}}}{\left(\frac{s}{\beta}\right)^a - \lambda} \right] = t^{b-1} E_{a,b}(\lambda t^a).$$

**Proof.** By using the definition of AK transform, we have

$$\begin{aligned} M_i[x^{b-1} E_{a,b}(at^a)] &= M_i \left[ \sum_{n=0}^{\infty} \frac{x^{b-1} (\lambda x^a)^n}{\Gamma(an+b)} \right] \\ &= s \int_0^{\infty} \sum_{n=0}^{\infty} \frac{x^{b-1} (\lambda x^a)^n}{\Gamma(an+b)} e^{-\frac{s}{\beta}t} dt \\ &= s \int_0^{\infty} t^{b-1} e^{-\frac{s}{\beta}t} \sum_{n=0}^{\infty} \frac{\lambda^n x^{an+b}}{\Gamma(an+b)} dt \\ &= \sum_{n=0}^{\infty} \frac{\lambda^n}{\Gamma(n+1)}, s \int_0^{\infty} e^{-\frac{s}{\beta}t} t^{an+b-1} dt \\ &= \sum_{n=0}^{\infty} \frac{\lambda^n}{\Gamma(n+1)} M_i[t^{an+b-1}]. \end{aligned}$$

Since  $M_i[t^n] = \Gamma(n+1) \frac{\beta^{n+1}}{s^n}$ . Therefore,

$$M_i[t^{an+b-1}] = \Gamma(an+b) \frac{\beta^{an+b}}{s^{an+b-1}}$$

Hence,

$$\begin{aligned} M_i[x^{b-1} E_{a,b}(at^a)] &= \sum_{n=0}^{\infty} \frac{\lambda^n}{\Gamma(an+b)} \cdot \Gamma(an+b) \frac{\beta^{an+b}}{s^{an+b-1}} \\ &= \sum_{n=0}^{\infty} \lambda^n \cdot \frac{\beta^{an+b}}{s^{an+b-1}} \end{aligned}$$

$$= \frac{\beta^b}{s^{b-1}} \sum_{n=0}^{\infty} \left( \frac{\lambda \beta^a}{s^a} \right)^n$$

Again from geometric series, we have

$$1 + x + x^2 + x^3 + \dots = \sum_{n=0}^{\infty} x^n = \frac{1}{1-x}$$

$$\Rightarrow M_i[x^{b-1}E_{a,b}(at^a)] = \frac{\beta^b}{s^{b-1}} \sum_{n=0}^{\infty} \left( \frac{\lambda \beta^a}{s^a} \right)^n = \frac{\beta^b}{s^{b-1}} \left( \frac{1}{1 - \frac{\lambda \beta^a}{s^a}} \right)$$

$$= \frac{\beta^b}{s^{b-1}} \left( \frac{s^a}{s^a - \lambda \beta^a} \right)$$

$$= \frac{\frac{s^{\alpha-b+1}}{\beta^{\alpha-b}}}{\left(\frac{s}{\beta}\right)^{\alpha} - \lambda}$$

$$M_i^{-1} \left[ \frac{\frac{s^{\alpha-b+1}}{\beta^{\alpha-b}}}{\left(\frac{s}{\beta}\right)^{\alpha} - \lambda} \right] = x^{b-1}E_{a,b}(ax^a).$$

### AK Transform of Riemann-Liouville fractional integral

Riemann-Liouville fractional integral is defined as:

$${}_a D_t^{-p} f(t) = \frac{1}{\Gamma(p)} \int_a^t (t-\tau)^{p-1} f(\tau) d\tau \quad (2)$$

where the symbol  ${}_a D_t^{-p} f(t)$  denotes fractional integration of order  $p$ . This definition was derived from Cauchy formula, when we replace the integer  $n$  by  $p > 0$ ,  $p \in \mathbb{R}$ . Note: when  $\alpha = 0$ , we will use the notation  $D^{-p} f(t)$  to denote the fractional integration of order and defined as:

$$D^{-p}f(t) = \frac{1}{\Gamma(p)} \int_0^t (t - \tau)^{p-1} f(\tau) d\tau \quad (3)$$

Now, taking the AK transform both sides of equation (3), we get

$$\begin{aligned} M_i(D^{-p}f(t)) &= M_i\left(\frac{1}{\Gamma(p)} \int_0^t (t - \tau)^{p-1} f(\tau) d\tau\right) \\ &= M_i\left(\frac{1}{\Gamma(p)} t^{p-1} * f(t)\right) \\ &= \frac{1}{\Gamma(p)} M_i(t^{p-1} * f(t)) \\ &= \frac{1}{\Gamma(p)} \frac{1}{s} \bar{g}(s, \beta) \bar{f}(s, \beta), \text{ where } g(t) = t^{p-1} \\ &= \left(\frac{s}{\beta}\right)^{-p} \bar{f}(s, \beta). \end{aligned}$$

#### AK Transform of Riemann-Liouville fractional derivative

**Definition.** The Riemann-Liouville fractional derivative of order  $p \in \mathbb{R}$ ,  $p > 0$  is given by

$${}_a D_t^p f(t) = \frac{1}{\Gamma(m-p)} \frac{d^m}{dt^m} \int_0^t (t - \tau)^{m-p-1} f(\tau) d\tau \quad (4)$$

$$= \frac{d^m}{dt^m} ({}_a D_t^{-(m-p)} f(t)), \quad m-1 \leq p \leq m \quad (5)$$

Equation (4) can be rewritten as:

$$\begin{aligned} {}_a D_t^p f(t) &= \frac{1}{\Gamma(m-p)} \int_0^t (t - \tau)^{m-p-1} f(\tau) d\tau \\ &= \frac{1}{\Gamma(m-p)} (t^{m-p-1} * f^{(m)}(\tau)) \end{aligned} \quad (6)$$

Taking the AK transform both sides of equation (6)



$$\begin{aligned}
M_i[aD_t^p f(t)] &= M_i\left(\frac{1}{\Gamma(m-p)}(t^{m-p-1} * f^{(m)}(\tau))\right) \\
&= \frac{1}{\Gamma(m-p)} M_i(t^{m-p-1} * f^{(m)}(\tau)) \\
&= \left(\frac{\beta}{s}\right)^{-m} \bar{f}(s, \beta) - \sum_{k=0}^{m-1} \frac{\beta^{k-m+1}}{s^{k-m}} f^{(k)}(0).
\end{aligned}$$

**Example.** Consider the following fractional differential equations

$${}^c_0D_t^\alpha y(t) + \alpha y(t) = 0, \quad t > 0, \quad y(0) = A, \quad 0 < \alpha < 1. \quad (7)$$

**Solution.** Since from equation (6), we have

$$\begin{aligned}
{}_0D_t^\alpha f(t) &= \frac{1}{\Gamma(m-\alpha)} \int_0^t (t-\tau)^{m-\alpha-1} f^{(m)}(\tau) d\tau \\
&= \frac{1}{\Gamma(m-p)} (t^{m-\alpha-1} * f^{(m)}(\tau)) \quad m-1 < \alpha < m
\end{aligned} \quad (8)$$

Taking the AK transform both sides of equation (7)

$$M_i({}^c_0D_t^\alpha y(t) + \alpha y(t) = 0)$$

$$M_i({}^c_0D_t^\alpha y(t) + \alpha M_i[y(t)] = 0)$$

Now using the definition of AK transform for fractional derivative, we have

$$\left(\frac{\beta}{s}\right)^{-\alpha} \bar{y}(s, \beta) - \sum_{k=0}^{m-1} \frac{\beta^{k-\alpha+1}}{s^{k-\alpha}} y^{(k)}(0) + \alpha \bar{y}(s, \beta) = 0 \quad (9)$$

Since  $0 < \alpha < 1$  and from equation (8)  $m-1 < \alpha < m$ , implies  $m = 1$ .

Therefore, equation (9) can be rewritten as:

$$\left(\frac{\beta}{s}\right)^{-\alpha} \bar{y}(s, \beta) - \sum_{k=0}^0 \frac{\beta^{k-\alpha+1}}{s^{k-\alpha}} y^{(k)}(0) + \alpha \bar{y}(s, \beta) = 0$$

$$\Rightarrow \left(\frac{\beta}{s}\right)^{-\alpha} \bar{y}(s, \beta) - \sum_{k=0}^0 \frac{\beta^{-\alpha+1}}{s^{-\alpha}} y^{(k)}(0) + \alpha \bar{y}(s, \beta) = 0$$

Using the given initial condition, we get

$$\left[ \left(\frac{\beta}{s}\right)^{-\alpha} + \alpha \right] \bar{y}(s, \beta) = A \frac{\beta^{-\alpha+1}}{s^{-\alpha}}$$

$$\Rightarrow \bar{y}(s, \beta) = A \cdot \frac{\frac{s^\alpha}{\beta^{\alpha-1}}}{\left(\frac{s}{\beta}\right)^\alpha + \alpha}$$

Applying inverse AK transform

$$\begin{aligned} y(t) &= AM_i^{-1} \left( \frac{\frac{\beta^{-\alpha+1}}{s^{-\alpha}}}{\left(\frac{\beta}{s}\right)^\alpha + \alpha} \right) \\ &= AM_i^{-1} \left[ \frac{\frac{s^\alpha}{\beta^{\alpha-1}}}{\left(\frac{s}{\beta}\right)^\alpha + \alpha} \right] \end{aligned}$$

Since

$$M_i^{-1}(t^{b-1} E_{a, b}(\lambda t^a)) = \frac{\frac{s^{a-b+1}}{\beta^{a-b}}}{\left(\frac{s}{\beta}\right)^\alpha - \lambda}$$

Now comparing the exponents of the two terms, we have

$$\alpha = a - b + 1 \Rightarrow b = 1, \text{ and } \lambda = -\alpha$$

$$\Rightarrow y(t) = A[E_{a, 1}(-\alpha t^a)]$$

Let  $\alpha = 1$ , then

$$\begin{aligned} y(t) &= A[E_{a,1}(-at^a)] \\ &= A \sum_{n=0}^{\infty} \frac{(-at)^n}{\Gamma(n+1)} = A \cdot e^{-at}. \end{aligned}$$

**Example.** Consider the following non-homogeneous initial value problem

$$\begin{aligned} 0D_x^a y(t) + 0D_x^b y(x) &= h(x), \quad x > 0, \quad 0 < a < b < 1 \\ y(0) &= C. \end{aligned}$$

**Solution.** Taking the AK transform of both side of the above IVP, we have

$$\begin{aligned} M_i[0D_x^a y(x) + 0D_x^b y(x) = h(x)] \\ \Rightarrow \left(\frac{\beta}{s}\right)^{-a} \bar{y}(s, \beta) - \sum_{k=0}^{m-1} \frac{\beta^{k-a+1}}{s^{k-a}} y^{(k)}(0) + \left(\frac{\beta}{s}\right)^{-b} \bar{y}(s, \beta) - \sum_{k=0}^{m-1} \frac{\beta^{k-b+1}}{s^{k-b}} y^{(k)} = \bar{h}(s, \beta) \end{aligned}$$

$$0 < a < b < 1, \quad m-1 < a < m \Rightarrow m = 1$$

$$\left(\frac{\beta}{s}\right)^{-a} \bar{y}(s, \beta) - \frac{\beta^{-a+1}}{s^{-a}} y(0) + \left(\frac{\beta}{s}\right)^{-b} \bar{y}(s, \beta) - \frac{\beta^{-b+1}}{s^{-b}} y(0) = \bar{h}(s, \beta).$$

Applying the given initial conditions, we get

$$\Rightarrow \left(\frac{s}{\beta}\right)^a \bar{y}(s, \beta) - C \frac{s^a}{\beta^{a-1}} + \left(\frac{s}{\beta}\right)^b \bar{y}(s, \beta) - C \frac{s^b}{\beta^{b-1}} = \bar{h}(s, \beta)$$

$$\Rightarrow \left[ \left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b \right] \bar{y}(s, \beta) - C \left[ \frac{s^a}{\beta^{a-1}} + \frac{s^b}{\beta^{b-1}} \right] = \bar{h}(s, \beta)$$

$$\Rightarrow \left[ \left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b \right] \bar{y}(s, \beta) = \bar{h}(s, \beta) + C \left[ \frac{s^a}{\beta^{a-1}} + \frac{s^b}{\beta^{b-1}} \right]$$

$$\bar{y}(s, \beta) = \frac{\bar{h}(s, \beta)}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} + C \frac{\frac{s^a}{\beta^{a-1}} + \frac{s^b}{\beta^{b-1}}}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b}$$

$$\begin{aligned}
&= \bar{h}(s, \beta) \frac{1}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} + C \frac{\frac{s^a}{\beta^a} \cdot \beta + \frac{s^b}{\beta^b} \cdot \beta}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} \\
&= \bar{h}(s, \beta) \frac{1}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} + C\beta
\end{aligned}$$

$$y(x) = M_i^{-1} \left[ \bar{h}(s, \beta) \frac{1}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} \right] + M_i^{-1}(C\beta)$$

$$= M_i^{-1}[\bar{h}(s, \beta)\bar{f}(s, \beta)] + C, \text{ where } \bar{f}(s, \beta) = \frac{1}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b}$$

$$\text{where } \bar{f}(s, \beta) = \frac{1}{\left(\frac{s}{\beta}\right)^a + \left(\frac{s}{\beta}\right)^b} = \frac{\left(\frac{s}{\beta}\right)^{-a}}{\left(\frac{s}{\beta}\right)^{b-a} + 1}$$

$$\Rightarrow f(x) = M_i^{-1} \left[ \frac{\left(\frac{s}{\beta}\right)^{-a}}{\left(\frac{s}{\beta}\right)^{b-a} + 1} \right].$$

Since

$$M_i^{-1}(t^{b-1}E_{\alpha, b}(\lambda t^\alpha)) = \frac{s^{a-b+1}}{\left(\frac{s}{\beta}\right)^a - \lambda}$$

$$\Rightarrow \lambda = -1, \alpha = b - a$$

$$f(x) = (t^{b-1}E_{b-a, b}(-t^\alpha)).$$

Since the solution of the unknown function given by

$$y(x) = M_i^{-1}[\bar{h}(s, \beta)\bar{f}(s, \beta)] + C.$$

Now from convolution theorem, we have

$$f * g = \int_0^{\infty} f(\tau)g(t - \tau)d\tau$$

$$M_i(f * g) = \frac{1}{s} \bar{f}(s, \beta)\bar{g}(s, \beta)$$

$$y(x) = f(x) * g(x) + C$$

$$= \int_0^x f(x - \tau)h(\tau)d\tau + C$$

$$\Rightarrow y(x) = \int_0^x (x - \tau)^{b-1} E_{b-a, b}(-1(x - \tau))^{b-a} h(\tau)d\tau + C.$$

### Conclusion

In this paper, we have developed a new integral method known as AK transform with counter examples of some basic functions, and also some fundamental theorems of this new method are provided. We use AK transform to solve linear homogeneous and non-homogenous fractional differential equations and we obtained an exact solution of in all examples. In future studies, AK transform can be applied for other problems in fluid mechanics, biomathematics, etc.

### References

- [1] R. M. Jena and S. Chakraverty, Residual power series method for solving time-fractional model of vibration equation of large membranes, *J. Appl. Comput. Mech.* 5 (2019), 603-615. doi:10.22055/jacm.2018.2666 8.1347
- [2] R. M. Jena and S. Chakraverty, A new iterative method based solution for fractional black-Scholes option pricing equations (BSOPE), *SN Appl. Sci.* 1 (2019), 95. doi:10.1007/s42452-018-0106-8
- [3] R. M. Jena, S. Chakraverty and S. K. Jena, Dynamic response analysis of fractionally damped beams subjected to external loads using homotopy analysis method (HAM), *J. Appl. Comput. Mech.* 5 (2019), 355-366. doi:10.22055/JACM.2019.2759 2.1419

- [4] S. O. Edeki, G. O. Akinlabi, R. M. Jena and O. P. Ogundile, Conformable decomposition method for time-space fractional intermediate scalar transportation model, *Journal of Theoretical and Applied Information Technology* 97 (2019), 4251-4258.
- [5] R. M. Jena, S. Chakraverty and D. Baleanu, On the solution of imprecisely defined nonlinear time-fractional dynamical model of marriage, *Mathematics* 7 (2019), 689. doi:10.3390/math7 080689
- [6] R. M. Jena, S. Chakraverty and D. Baleanu, On new solutions of time-fractional wave equations arising in shallow water wave propagation, *Mathematics* 7 (2019), 722. doi:10.3390/math7080722.
- [7] R. M. Jena and S. Chakraverty, Boundary characteristic orthogonal polynomials-based galerkin and least square methods for solving bagley-torvik equations, *Recent Trends Wave Mech. Vibrations* 13 (2019), 327-342. doi:10.1007/978-981-15-02 87-3\_24
- [8] D. Baleanu, J. A. T. Machado and A. C. J. Luo, *Fractional Dynamics and Control*, New York, NY: Springer (2012). doi:10.1007/978-1-4614-0457-6
- [9] D. Baleanu, K. Diethelm, E. Scalas and J. J. Trujillo, *Fractional calculus: models and numerical methods*, Singapore: World Scientific Publishing Company, (2012). doi:10.1142/8180
- [10] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, *Theory and Application of Fractional Differential Equations*, Amsterdam: Elsevier Science B. V, (2006).
- [11] X. J. Yang, D. Baleanu and H. M. Srivastava, *Local Fractional Integral Transform and their Applications*, New York, NY: Academic Press (2015). doi:10.1016/B978-0-12-804002-7.00004-8